17. Find the distance of a point (2, 4, 1) from the line

x-li-Ss:Y+3_z-6

s
Sol. We have, equation of the line as XIS:'V:}:Z:::/I
= x=2A-5y=41-3,z=6-9A

Let the coordinates of L are (15,44~ 3,6 -94)

Then direction ratios of PL are (A-5-2,4A-3-4,6— 91+I)or(2. (A

44 -17,7-9A).

Also, the direction ratios of given line are 1, 4, -9.

Smoe, PL is perpendicular to the given line.
A-7-1+@A-T7)-4+(7-94)-(-9)=0

= A-T+16A-28+81A-63=0
= 984 =98

= A=1

So

, the coordinates of L are (A~ 5,44~ 3,6-94) = (-4, 1,-3).
| AlsoPL =y(-4-2)+(1- 4+ (-3+1)

=36+9+4 =7 units




